62.77km?>

50
336.04m’/s

11.99km
1.3

20

250m

3km

561.28m’/s

0+100
400m
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6km
3 4
462.1m’/s 3.26m
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238 3 3
2 & il
2
4
4.1
41.1
-2.0m -2.0m -1.0m
1
1
m
P % Q ms Z, Z, Z>-Z, Z m
2 561.28 3.97 3.71 0.26 3.46
5 462.1 3.38 3.26 0.12 3.07
41.2
200m -3.5m -3.0m
2
2
m
P % Q m's Z, Z, Z>-Zs Z(m) M
2 561.28 3.76 3.71 0.05 3.46 0.191
5 462.1 3.21 3.26 -0.05 3.07 0.183
1.75m -2.0m
e/H 0.65 1
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Q=0emB,/2gH,"”’

oc—— &E—
m—— B—— B=48m
- _ v? \Y}
H, H,=H+ A g
M =ocem 1
Q=MB,/2gH"* 2
2 M 2
2
P=5% 3.21m
0.05m P=2% 3.76m 0.05m
4.1.3
0.5m -0.4m 8
3
3
e m 0.2 0.4 0.6 0.8 1.0
Q m’/s 35.8 64 116.3 152.5 186.8
Z m -0.4
Q>190m’/s 3 8
e=1.0m 186.8 m’/s
Q>190m’/s e 1.0m
4.2
4.2.1
1
0-070
2
4.2.2
1
0+100 0+220
4
0+028 2.8m/s 0+057.8 1.4m/s
04220 2.0m/s
2.1m/s 1.2m/s 0+220 2.0m/s
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P % Q m's 01028 mis m/s
2 561.28 27 2.8 13 14
5 462.1 2.0 2.1 .1 1.2
2
5
5
0+028
e m Q m's m/s m/s
1 561.28 24 2.7 1.2 13
2 462.1 1.6 19 1.0 1.1
3 i 336.04 1.2 1.5 0.8 1.1
4 250 1.0 13 0.8 1.0
6
7 e 0.6m
€>0.6m
V 3m/s V  1.5m/s
6
e m Z m
5 0.2
6 0.4
7 8 0.6 -0.4
8 0.8
9 1.0
7
o 0 ms 0+028 m/s m/s
5 0.2 35.8 03 04 02 03
6 0.4 64 0.6 0.7 03 05
7 0.6 116.3 1.0 12 0.6 0.7
8 0.8 152.5 1.5 1.6 0.7 0.9
9 1.0 186.8 20 25 09 1.1
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e=0.2m

Q 190m’/s

Q>190m’/s
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